




� %NWVEJ�2WOR�-KV�
� ��������
� &KHY\�����
  With A/C 

� �����
�

I N S T A L L A T I O N  I N S T R U C T I O N S  
  
      NOTE: Suction hose to pump must be a wire braid hose; minimum 1" I.D. for 7 & 9 gpm 

pumps; 11/4" I.D. for 12 & 17 gpm pumps.  Installations with smaller suction hoses will void the 
pump warranty. 

 
 1. Disconnect battery. 
 
 2. Remove fan and fan shroud. 
 
 3. Remove bolts from air conditioner (11) and radiator hose support (21). 
 
 4. Remove power steering pulley (26). 
 
 5. Remove bolts (12, 13) and nut (14) mounting air conditioner bracket to engine. 
 
 6. Remove power steering pump from engine (2 nuts on back side). 
 
 7. Remove engine lifting bracket (24) behind power steering pump. 
 
 8. Cut lifting bracket as shown in fig. 2.  Discard upper slotted portion. 
 
 9. Replace lifting bracket back on engine. 
 
10. Replace power steering pump and secure with OEM nuts. 
 
11. Bolt DewEze air conditioner bracket (23) in place using OEM bolts (12, 13) and nut (14). 
 
12. Replace power steering pulley. 
 
13. Bolt air conditioner compressor in place on bracket with only two bolts (11) on passenger side. 
 
14. Cut radiator hose support cradle off of OEM bracket as shown in fig. 1.  Bolt back on air conditioner 

bracket using OEM bolt (21). 
 
15. Bolt on pump mounting plate (1) using two 3/8 x 1 1/2 socket head bolts (9) in holes (A and B). 
 
16. Place tabs (2) on top of pump plate (1) and air conditioner compressor at holes (C, D, E, F) using 

OEM bolts (11) in air conditioner compressor and 3/8 x 1 wiz bolts (10) in pump plate. 
 
17. Place footmount on plate using four 3/8 x 1 1/4 bolts (18) with 3/8 lock washers (19) and 3/8 flat 

washer (20). 
 
18. Mount pump on footmount using two 3/8 x 1 1/4 bolts (18) with 3/8 lock washers (19).  Do not 

tighten. 
 
19. Place hose holder (3) on top mounting bolt of pump, tighten bolts. 
 

'HZ(]H�



20. Mount clutch coil (8) using four wiz bolts provided with clutch.  Mount clutch pulley using bolt and 
heavy flat washer provided with clutch. 

 
21. Bolt idler pulley (5) using 7/16 x 2 3/4 bolt (16), 7/16 flat washer (17), and bushing (4) into pump 

plate at hole (H). 
 
22. Bolt idler pulley (5) using 10mm x 60mm bolt (15), 7/16 flat washer (17), and bushing (4) into air 

conditioner bracket at hole (G). 
 
23. Install belt (27) as shown in fig. 3. 
 
24. Reconnect the battery. 
 
25. Run the engine and check for any clearances or alignment problems.  Adjust as needed. 
 
26. Place fan and shroud into position. 
 
27. Run the engine again, checking for any problems. 
 


